Al & ol & A H A A

200 MIQee
210 BAFMASY
s 212 AHEE4Y EGR=E)
I R 04l &bl T3 0l Aro HmE2
=R 3,879,595 3,248,195 631,400
200 MI2I4-e 1,505,567 1,367,999 137,568
210 ZATAIQI4L 1,456,357 1,352,389 103,968
212 A2 4¢ 1,456,357 1,352,389 103,968
212-04 MHTAIBR 1,456,357 1,352,389 103,968
< MBI > 1,456,357 1,352,389 103,968
O 683,830
OAH 15,000 24*900& * 122 162,000
02% 4,1002%2408 * 122 11,808
0d= 4,7002%1,000& 122 56,400
0=A 10,6002% 170812 21,624
0ctA 6,8002x950& * 122 77,520
0&let 14,20094% 1, 170 %122 199,368
04IS 5,2002+550 % * 122 34,320
OAIA 8,500 6208 * 122 63,240
0AH & 8,000 *600& * 122 57,600
oger= 748,818
(s 41,0002 %480 & * 12 236,160
02% 14,0002 x9& * 122 1,512
0d8= 21,0002% 1358128 34,020
0=A 140, 0002 %955 x 1224 159,600
0ct 29,00024%180& * 127 62,640
alely 44,000 24x2858 * 122 150,480
08lS 25,300 2*85%!* 122 25,806
OAIA 37,00024*150 %+ 122 66,600
o4t 20,0002*50%! * 122 12,000
OSESE 23,659
0AHY 1,20024 3% %122 43
Oalot 90,0008 +2% 1% 122 2,160
OAIE 690,000 x2 & * 122 16,560
0d= 8,00024+1 X122 %
04lS 400,000+ 1 &% 122 4,800
230 NIZBEAM - L2 49,210 15,610 33,600
236 222 49,210 15,610 33,600
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200 MIQee
oH 230 XIS E T
5t 23 2cia chel: ®2l)
-85 Ofl &b T 0 Atrod s
236-01 22 49,210 15,610 33,600
< ABIEE I > 49,210 15,610 33,600
== 49,210
02% 70,0002 +50% 3,500
0d= 70,0002 +20& 1,400
0=A 70,0002 +20& 1,400
=25 70,0002 x40 2,800
oAl 70,00081%20& 1,400
04IS 70,00024%13% 910
04y 70,0002 %20 1,400
OAIA 70,0002 +20& 1,400
04 70,0002 *500& 35,000
700 24U SIS N 2,374,028 ,880, 196 493,832
710 BEAUS 100,000 271,925 AT171,925
711 20i2 100,000 271,925 AT171,925
711-01 &=AIHIL0f 100,000 271,925 AT171,925
< ABIEE I > 100,000 271,925 AT171,925
O=NHLH= 100,000,0002 100,000
720 LIS 12 2,274,028 608,271 665, 757
721 M2 2,274,028 608,271 665, 757
721-03 JIEFSIHI AL 2,274,028 1,608,271 665, 757
< ABEE I > 2,274,028 1,608,271 665,757
OUBIs| H 2,274,028
QA=A 29 2.274.028,000 2,274,028
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Al & ol & A H A A

& 500 BEx3
2t 510 2 DNEXSE
& 511 3NEXRZS (Etel =)
-85 Oil &tod S E0| Aot HwEZ
=5 Al 21,092,377 19,101,543 1,990,834
500 X2 14,222,323 13,505,697 716,626
510 = NBE3S 13,788,823 12,907,877 880,946
511 218X 32S 13,788,823 12,907,877 880,946
511-01 =218X3 8,430,000 8,051,400 378,600
< Aot > 8,430,000 8,051,400 378,600
OzR A2t 8,430,000
0 HXI? B30T EUIAY 2.,305,000,000 2,305,000
040 B35t=HelAlE AEAY 1,821,000,000 1,821,000
OAIE B35t elAlE SEAY 1,110, 000,000 1,110,000
0=2X7 sHE0I20t=E SEAS 794,000,000 794,000
0N HKI7? S3ote2E AXIAY 1,500, 000,000 1,500,000
09X+ sHE0IE5E SEAY 300,000,000 300,000
OUZEXIF sHE0IES0=E SEAY 300,000,000 300,000
0BEXF? sUHE0I20t=E SEAS 300,000,000 300,000
511-03 212 5,358,823 4,856,477 502,346
< Aot > 5,358,823 4,856,477 502,346
Ogde A(ds2A2elI=z) 5,358,823
020X+ ot==2t2 ZHIAY 655,000,000 655,000
0ARHXIF B3ot=% EHIAZE 720,000,000 720,000
040 B35t=HelAlE AEAY 192,000,0002 192,000
OAIE BE5tHelAlE SEAY 57,000,000 57,000
0=2X7 sHE0I20t=E SEAS 90,000,000 90,000
0BZotHEAIE(B30+=E 2Y) 831,445,000 831,445
4Rl X Azte|(Z el 3 =F2e])
165,855,000 165,855
0SEXIFAIE 700,000,000 700,000
0L BN &AL 865,000,000 865,000
0FDIXIJAIY AlIEE & B2 40,849,000 40,849
OREXHIANE (Bl 2Y) 142,417,000 142,417
OIIERa A (OIEERHelAlE 2Y) 899,257,000 899,257
520 Al - SHIREZS 433,500 597,820 164,320
521 Al - SHIEX=SS 433,500 597,820 A164,320
521-01 Al - SHIBZ2S 433,500 597,820 A164,320
< Aot > 433,500 597,820 A164,320
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-85 Oil &tod S E0| Aot HwEZ
O3B ZAY 433,500
SEL At 433,500
oM T B33t=E FHIAKY 26,000,000 26,000
oM S33tcHMelAlE AEAY 96,000,000 96,000
oAIE BBotHelAE ESEAY 81,500,000 81,500
o 2XF sHEDISEE SEAMY 38,000,000 38,000
0E X7 sUHEDISEIEE SEAY 64,000,000 64,000
oUEXF? sUHEDISEIEE SEAY 64,000,000 64,000
o EHIT sHEOISoT SEAY 64,000,000 64,000
SZURcH 6,870,054 5,595,846 1,274,208
as 500,000 500,000 0
= 500,000 500,000 0
711-01 =AIAHL 0= 500,000 500,000 0
S > 500,000 500,000 0
Oz=MALHZ 500,000,000 500,000
720 LIS DA cH 6,370,054 5,095,846 1,274,208
= 6,370,054 5,095,846 1,274,208
JIEtSIHE S 6,370,054 5,095,846 1,274,208
ST > 6,370,054 5,095,846 1,274,208
BHaH M= 6,370,054,0002 6,370,054
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